[image: ]Going Deeper problem 1
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c)  Use a different method to work out your answer.
[bookmark: _Hlk503982680]d) Which method is the most efficient one to use?  Explain







	Going Deeper problem 2
a) [image: ]
b) Show a visual/pictorial method to solve the problem.
c) Which method (there might be more thatn the two you used in part a and b)nis the most efficient one to use and which one are you most confident give you the correct answer? Explain.



Going Deeper problem 3
a) What is the perimeter of the new shape?
b) Can you estimate the perimeter of the third shape in the pattern?
c) Create a rule (or formula) which will work for any size shape made from these identical curved.

Going Deeper problem 4
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a) What would be a silly answer to the question – explain why you know it is a silly answer.
[bookmark: _GoBack]b) Work out the mass of the largest apple.
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“This shape is made out offour identical curves.

‘The perimetar o the shape is 28 centimetres.

A now shape is made out of curves of the same size.

‘What s the perimeater of the new shape?
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(@ 1 kilogram of grapes costs £5.80

Megan buys 700 grams of grapes.

"How much does she pay?

(©) 1 kilogram of cheess costs £13.50
Megan buys a piece of cheese costing £2.49

‘What s the mass of the cheese to the nearest 100 grams?
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(Ghenis cooking some pasta.

“The recipe says he needs 350 grams of pasta
for 4 people.
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‘Three apples have a mean (average) mass of 100 grams.

‘The largest apple is removed.
‘The mean mass of the remaining two apples is 70 grams.

What is the mass of the largest apple?




